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SECTION A (Answer ALL questions on a mark reading sheet provided)

1)

2)

3)

4)

5)

6)

The sociobrological view focusses on the interaction between ... factors within an individual and
the influence of the particular . .

1)  psychological, genetics

2) bwological; environment.

3) physiological; thought processes.
4) sociological, environment.

(1)

Edwin Lemert's interactionist approach assumes that individuals enter into a cnminal career
after they have been ...

1)  shgmatised as deviant by society as a whole

2) labelled, especially by those important to them.

3) influenced by cnminal peers 1o commit crime

4) publically ostracised and punished for being dewiant.

(1)
Differential association vanes tn respect of ...
1)  exposure, duration, identificaton and intensity.
2) frequency, duration, prionty and intensity.
3) attachment, duration, pnonty and identification
4)  pnority, intensity, exposure and identification.
(1

The term “social ecology” refers to a type of research that examines the following:

1}  geographical areas, strain, irregularities within society and patterns of anomie

2) social disorganisation, irregulanties within the social system and shorticomings in society
3) geographical areas, area concentratrons, regulanties and pattemns of social life

4) social disorganisation; area concentrations, regulanties and patterns of social life

M

Chicago school theornsts, Shaw and McKay (1921), believed that when growing up in a
disorganised area, It I1s the combination of two factors that lures individual youngsters into cnme.

1)  a breakdown in social bonds; environmental influences
2) aweak social system; exposure to a cnminal culture

3) a breakdown in control, exposure to a cnminal culture
4)  a weak social system; exposure cnminal influences

(1)
A very prominent hmitation of classicism is the fact that they ignored . .

1)  the feeble-minded” and insane.

2) factors such as poverty and immaturity.
3) differences between individuals

4)  aggravating and mitigating factors.

()



7)

8)

9)

10)

11)

12)
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The vanables central to ecological theory which generate social disorganisation and in turn
contributes to crime and misconduct are:

1)  socio-economic factors, social control and racial heterogeneity

2) poverty, mobiiity of residents and racial heterogeneity

3)  socio-economic factors, ,mobility of residents and lack of social support
4) poverty, mobility of residents and lack of social support

(1)
What will encapsulate the environmental forces that have a direct influence on human behaviour?

1)  social structure

2) stram
3) anomie
4) social ecology
(n
The fundamental assumption shared by conflict theories is that . .
1)  societies are charactenised by conflict and not by consensus.
2)  confiict 1s the resuit of gaining and losing power in society.
3) poweris used to establish and maintain consensus.
4)  the most powerful groups in society control the law.
(1M

When cnminal behaviour 1s learnt, the learning process hot only involves learning specific
techniques but also necessitate the presence of ...

1)  motives, drives, rationalisation and attitude

2) communication, motives, drives and attitude
3) nteraction, drives, rationalisation and athtude.
4) motives, drives, processes and rationalisation.

(1)
Which two subgroups form part of structure theones?

1)  soctal disorgamsation and strain

2) differential association and strain
3) social disorganisation and control
4) dfferential association and learning

(1)

Mechanical solidanty refers to:

1)  group Ifestyle and behaviour that are stable and predictable

2)  pre-industrial societies where individuals share common experiences
3) ahigh degree of occupational speciahsation

4)  senous dilution of the power of informal community rules

(N



13)

14)

15)

16)

17)

18)
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Which concept 1s associated with social learning which states that behaviour is shaped by the
consequences that follow the act?

1) classical conditions

2) psychological positivism
3) operant conditioning

4) sociological positivism

(1

What will bound an individual to society only by his own consent?
1}  cnminal mvolvement
2) punishment
3) cnminal event decisions
4) social contract

(1)
According to Hirschr's social bonding theory, which two factors are major concerns of human
nature, also mndicating that human behaviour tends to be self-centred?
1)  regulation, controlled behaviour
2) socety's rules, regulations
3) self-preservation; reward
4) a person’s bonds; moral order

(1)

Sociai process theory Is of the opinion that when a person engages in misconduct and cnme, it
refars to someone whose ... and . are out of ne with conventional society.

1) interactions, behaviour

2) relationships; behaviour

3) personality; behaviour

4) personality , soccial processes

(1)

The problem with the positivist school's emphasis on deterministic causes of crime, 1s that it fails
to take into account ...

1 the offender as an individual.
2) empirical research.

3) human decision making,

4)  mihigating factors.

(1)

refer(s} to shorier processes that use more limited information mainly relating to the imnmediate
circumstances and situations

1)  Aggressive circumstances
2) Cnminal involvement

3} Cnminal event decisions
4)  Mitigating circumstances

(1)



19)

20)

21)

22)

23)

24)
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Merton’s theory of anomie was mainly developed to explain .
1)  property cnmes committed by the lower classes.
2) the origins of people’s motivation to commit crime.
3) the causes of cime among the white collar crimes.
4) the concentration of cime among the lower classes.
(1
According to Durkheim, cnme is functional in society. Crime’s adaptive functionisto ..
1)  maintain boundanes between media reports and conversations among people
2) help society to prepare for change and promote social solidarity.
3) introduce new ideas into society, thus preventing society from stagnating.
4)  reaffirm the boundary between good and bad behawviour
(1

The central attributes of the classical and necclassical schools relate to:

1)  offenders are different from non-offenders; use of non-scientific methodology, free will

2) doctrine of free will; use of non-scientific methodology; punishment should fit the cnime

3) pumishment should fit the offender; use of non-scientfic methodology, offenders are not
ditferent to non-offenders

4}  doctrine of free will; offenders are different to non-offenders; purishment should fit the
crime

M

Indicate which one of the following theories believe that vanous forms of misconduct, for example
drug abuse and truancy, are attractive to nearly all teenagers?

1) social theories
2) control theones
3) learning theones
4) conflict theories

(1)
The core element of Akers' theoty is ..
1) imitaton.
2) differential reinforcement.
3) dehnitions
4) differential association.
(1)

The rational choice perspective proposes that crime i1s not simply due to underlying motivations
or predispositions. It aiso involves . .

1) cnmes as deliberate acts.

2) asequence of choices

3) weighing up nisks and rewards.
4} asenes of steps or events.

(1)
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25) Becker {1963) believes that the pure deviant . .
1) 18 a person who is falsely accused as being deviant
2) experences a negative self-image due to being labelled
3) s someone who contravenes social norms
4) engages in norm-breaking behaviour
(1)
(25}

SECTION B: Answer THREE questions ONE 25 mark question;
ONE 15 mark question; and

ONE 10 mark question

Answer one questlon (Number your answers exactly as they appear on the question paper)

1) Cornish and Clark (1986) have attempted to construct a more sophisticated approach to the
decision to offend, which they have termed rational choice theory. Present a detailed discussion
(25)

2) Evidence to support the supposition that cnminality 1s inhented in the same way as physical
characteristics has been obtained from three sources Provide a detalled discussion {25)

Answer one question (Number your answers exactly as they appear on the question paper)

3)  Social learning theonists view violence as something learnt through a process called behaviour
modelling Discuss Badura's social learning theory (15)

4)  Discuss how the three (3) segments of Becker's social response approach can explain cnminal
behaviour (15)

Answer one question (Number your answers exactly as they appear on the question paper)
5)  Describe the assumptions of the Classical School. (10)

6)  According to social structure theonsts, misconduct and cnme are means of adapting to conditions
which occur predominantly in a disadvantaged environment. Discuss the premises of structure
theories (10)

[50]

Total: 75 marks

[ ]
UNISA 2017



[ -

TH AFRICA U N ] SA

wiersity
UNIVERSITY OF SOU s UNIVERSITEIT VAN SUID-AFRIKA
EXAMINATION MARK READING SHEET EKSAMEN-MERKLEESBLAD
-
i i ' [ ) I P
PART 1 (GENERAL/ALGEMEEN)/DEEL 1. LIS B | ik
voq ' . t 5w -
STUDY UNIT ag PSYIODX . “INITIALS AND SURNAME K AT i
STUDIE LENHEID bv PSYIO0 X VOOQRLETTERS EN VAN - - o cem e m e 4 et e e e e e 2 e =
R T s ; [ '
- ' FE’ATE OF EXAMNINATION ¥ (3 ! f
n?'rum VAN EKSAMEN - - - - P Bt et ——— - — e s
y b d te
FAPER NUMBER \EXAMINATION CENTRE (E G PRETORIA) e. L . ‘
VRAESTELNQMMER EXSAMENSENTHUM (BY PRETQRIA) — , - -— LR - - — -
' ' v ’ ¢ . N ar ¢ ' ! st y
' srupentmumeen 1’| [0 omouteaerno ¢ |+ Pleyp L L S LA
STUDENTENOMMER [* e iUNIEKE VRAESTEL NR ¢ \ ~ PR, o, !
+
i
- ' 4 ' 1 .
cd1 o031 e9s ¢ 02 Q1 ¢ 03 o|eQr ez <02 e G 2 ! }
i ci1tfretaciactartaciacds 11 1rclactrcety o1y For use by examination anlglEatOF
c21 021621 ¢33 023 723 023 €22 1 2y e23caT23 02y . .
33 £ 033 s €33 30 cda) (e 3ac €31 133 Vir gebruik deur eksamenopsiener |
41042 td) cdyedr cay| leds 4 t43 141 \
51 ¢62 tfa 3 t531 ¢51 1651 les3 e o £§1 51
ta ¢H3 tBI chI cGI rhI ch2 tha tfa B1 tgarHr B €62
tqac7reda eI eFr e 611071 73 €73 7127 01 07 '
B2 c81 cd1 ¢y c8: 8y rfy cfs t&1 t81 cB1 81 tB1 15 T N . M
N 9191 €9 %2281 ¢9r rGa1cd2 €% 92 91 ¢§r 93 o l; .o
5 . ] ! § [
IMPORTANT BELANGRIK
1 USE ONLY AN HE PENCIL 1O COMPLETE THI5 SHEET ¥ GEBRUIK SLEGS N HE POTLOCGD OM HIERDIE BLAD TE VOLTOO!
2 MARKLIKE THIS ™ 2 MERKASVOLG win
3 CHECK THAT YOUR INITIALS AND SUSBNAME HAS BEEN FILLED IN CORRECTLY 3 XONTROLEEH DAT U VOORLETTERS EN VAN REG INGEVUL IS
4 ENTES YOUR STUDENT NUMBER FROM LEFT TQ RIGHT 4 VUL U STUDENTEROMMER VAN LINKS NA REGS IN
5 CHECK THAT YOUR STUDENT NUMBER HAS REEN FILLED éN CORRECTLY 5 WKONTRDLEER DaT L) DiE KQRREXTE STUDENTENOMMER VERSTREK HET
B CHECK THAT THE UNKQUE NUMBER HAS BEEN FILLED IN CORRECTLY 6 KONTROLEER DAT DIE UNMEKE ROMMER REG INGEVUL 15
7 CHECK THAT ONLY ONE ANSWER PER QUESTION HAS BEEN MARKED 7 MAAX SEKER DAT NET EEN ALTERNATIER PER VRAAG GEMERK 1S
8. 0O NOT FOLD 8. MOENIE YOU NIE
« N b I - 1
PART, 2 (ANSWERS/ANTWOORDE) DEEL 2 . v
& & ER} 3 -
i 1 t12t21 3141 thy i % €12 c23 031 cdy t5H bl 1 ey 3 c43 £ha| . !lj 106 ¢1:¢e22t32 42 752
2 £11c21 £31 r42 £H k1l 1110213 cd1 1H 72 £13 221 ¢34 chay 107 13 c2yc3rc4arch :
i 1 cl1c21 c31 cd ehy 38 1162303 t41 tha I €11 t23 ¢33 043651 w7aad 108 Y3023 c31cddh
F 4 cl3£23 £33 04 chy 39 2021 c33 rdachs T3 €11 r2x031 c41 53 09 r13c2:rc31cdrehe
n 5 c1r£?re33 cdy 5y $a a0 £11c23 ¢33 rda cHa 5 T t11 523631 cdr rha i $10 1122 ¢33 cd1rc8y
*
t #
I} 6 £t1 023 £31 €43 751 1 €13 c21¢31 41 cH 76 £33 021 ¢33 r4 €63 N " 12 c23 t3) 41 ¢S5
- ] 7 £f3 022 £33 €42 o3 o i 42 t11 121 ¢33 rd1ha . rrl 01321 ¢31 41 H 112 iy 226303 £H
[, g £{1c2y t32 cd1 t5 43 £12 23 ¢33 £41 th 7€ £11 21031 41 1ha 4 ’i 113 1121 ¢33 cd1 53
* - 9 £}r 21 e31 v efs v o -1 £13rzy 31 r41eHs 78 12023031 4753 o, 114 1y ey c3acdy ey
, 10 ety 632 c43 chs 4 45 £}1 023 c31 tda thl . B0 tl:r21c31 41 (52 s 115 12023 €31 142 €52
, 1 €13 25 £33 r&a chals . 46 11221032 £d3 thy ! a1 ctre21 ¢33 41 1Ha 1 i3 21131 141 51 '
v J 12 ctiar 2133 cdr 53 i 47 ti1c21 32141 cha B2  c'21t2a:31 41153, ] cf3 02y c3y 43 ch '
v 13 cy3c21 e3rcd3 rhI[ 43 11 r3 r31 41 €63 il B 200823032 7410 . £13 021 3> 43 k3
14 o2y ok c; Y48 113213 chy e BA 132 coped W £{1 021 £33 c43 (5 B
| 15 121 31 cdaha . 50 11021 31 e £h 85 i el b] ' , 12621 €33 <42 5:2
+ I B F i
. Yoo -
i i r11cPr 3 tdacsa ‘) B tf3c2:rcdardich th 1 thd ) 421 13 23 33 cdr o) o
[ 17 c11c23 £33 cdy e 52 (&3] 12’:3: 4 g8 tYR 23 131 41 tH . 322 ci1¢33 3 42 5 *
[ 18 122137 43 153 . 53 130?043 3 €11 23 £33 43 (53 af 123 i3 cza edrrds el
19 cl1¢27 3140y 54 y) L "R B 89 11023631 4115 i 124 t13¢2x s
0 £13 €25 ¢33 tds chs N i IR¥ER + 90 c11 02y ¢31 c4a ohaf ¢ vt 1% rlac2ace3re4y %
y !t R -
[ N et c?a 32 1153 4 3732 43 B . 91 12 c33 32 cda oS3 ! - 126 13 c21 3343 ¢1%
' 2 £$1 €23 ¢33 13033 31 o4 Balt a2 €11 ¢21 31 ¢4 £RAL ! 127 iy 21 £3r da oy
73 t3rc2icr3acdacc 8 11 022 031 4 53 1 1323031 ¢y et e 128 123 c3rcdnoh ;
24 tjrec23 3z b N -] 13 023 031 rda cha 94 131 e21c3:1 €41 51 129 13 c21c31cdsch N
29 cfrc23 320415 o 50 £fr 21033 043 ¢ % £jr 21031 42 Ha 130 121233164 Rl o
+ t s
26 t121t23 31 e41¢t33 L 3 12023633 €43 tH 96 132 23 131 4y cmaly 131 1322031 043 €K
N rl tfac2y £33 r41 ch1| u 62 13023 032 €42 £h 97 €13 123 v31 42 51 i 132ty 021 32 043 tha !
* 28 T3 r)1 o33 o4 €53 ;‘i’ 61 11 c73 £33 cd) €5 o4 12023131 cdrehy ’M 5 133 riic2zcdycdr kg
fl 29 c¥r 213z ody 55y i 64 13 24 132 cda ha 1 98 tloci o3 cdr By 13 rfrc2a o3 gt
1 0 €13 €21 135041151 " 65 tfar21 031 t4) 5 i 100 «©12¢23 32 £41 €51 135 i1 t21 c31cda ehe
. [ W f
¢ 3 113 c22 £33 £43 £51)° . 66 €131 021037 cd1 th : " 101 £¥1121 32 042 ¢H1 ‘q 135 ti:t231 131 t41 th L
4 32 ryarc2ic3a <4y os ¢ 67 1302131 ¢4 ; 102 ciac2aedacdacfa| © o f 137 ce3c2ardrrdich
' n £f2e2y c31 41 53] \!. ] i3 ¢33 e rdha 303 ci1r21671 cdy 5 . 138 ri3c21 033 43152
L S 34 £y3 ¢} £33 c41 65y b (] t1redycdrrdr 5y 08 111123137 o1 5 . 138 eiac?2c}rcdaceh
35 £}1c2a 32 rd4a chHa i T3 £13:¢23 c31 tda 53 106 tli1ce7ic3r 41153 140 tyrc?rrcdicdic/a
[
- 3 ¢ 3 f N N T

LHISA P19



MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 15 marked by computer and should therefore be filled in thoroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DO NOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the illustration of a mark reading sheet on the reverse of this page and follow the mstructions step by
step when working on your sheet

Instructon numbers 0 1o @ refer to spaces on your mark reading sheet which you should fill in as
follows

(1 Write your paper code 1n these eight squares, for instance

PIS|Y[1][O0]|O0]-]|X

®

The paper nember pertains only to first-level courses consisting of two papers

WRITE | O | 1 | for the firstpaperand | 0 | 2 | for the second If only one paper, then leave blank.

Fill in your mitials and sumame
Fill n the date of the examination
Fill in the name of the examination centre

WRITE the digits of your student number HORIZONTALLY (from left to right) Begin by filling in the
first digit of your student number 1n the first square on the left, then fill in the other digits, each one ma
Separate square

In each vertical column mark the digit that corresponds to the digit 1n your student number as follows
[

WRITE your umique paper number HORIZONTALLY

NB. Your unique paper number appears at the top of your examination paper and consists only of digits
(e g 403326)

L0 In each vertical column mark the digit that corresponds to the digit number in your unique paper
nurnber as follows, |-

() Question numbers | to 140 indicate corresponding question numbers in your examination paper The

five spaces with digits 1 to 5 next to each question number indicate an alternative answer to each
question The spaces of which the number cotrespond to the answer you have chosen for each question
and should be marked as follows [-]

’ For official use by the mnvigilator Do not fill m any information here



